s BERER

I & _ & Al ©) A 3 =z BE | B

TT YEEI 1.03 = 1.03 1 m3
INRAE
7% 1 & 1.03 = 1.03 1 m3
EIWLS 1.23 = 1.23 T m

BEMBEI7 X 7 7L FMEERRY BT 18.0 + 18.0 = 36. 00 40 m
t=15cmLA T
IUR—ILEHET 3 = 3.00 3| &
oo U—+rTJBVYEH
S IR AR 5.76 + 5.76 = 11.52 12 m2
Asgist t=15cmPAF
FOE Mk 0.28 + 0.28 = 0.56 1 m3
Asz%
FOE Mk 0.02 = 0.02 0.02 m3
7 Co
RIS HA MERR 0.27 = 0.27 0.3 t
BRER k=
0o 0.64 + 0.64 = 1.28 1 t
Asz%
0o 0.04 = 0.04 0.04 t
7 Co
0o 0.27 = 0.27 0.3 t
A959F

REXBRI (ERUVHAZILDIJOVIERMNT 3 = 3.00 3| #A
o> U—+rJBRVYEH
BIVKEEILR L 2 = 2.00 2 ]
25kg/ &
#HE 9600 3 = 3.00 3 f#H
E&FHFHH T-25
I UR—ILEAREER 3 = 3.00 3 A
L=200 L=1. Om

ANfLBfET (VA b 2 = 2 2 | B
REHIN0 £F

HET FNEEENS 5.19 = 5.19 5 m2
HWEMEL
FNEEENS 5.7 = 5.70 6 m2
HWEM M-25 t=2cm ((F1Y)
TRERET 5.19 = 5.19 5 m2
BARARC-40 t=5cm
LERET 5.19 = 5.19 5 m2
FEARE M-40 t=15cm
RETL 5.76 + 5.70 = 11.46 1 m2
B#As20F t=5cm

REET RXEFEEEB + 2 + 2 = 70 7 A

3
X2 (&

AR /2 (@iF/B) %2 (A/B) =2




BE HBEHER OAAKERE (LLE)

I iz _ 5l H 52 AR He| B
T =] ( 2.25 - 0.52 ) * 0.2 * 3 1.03 m3
INRE = 1.03

%1 E 1.03 1.03 m3
Rty 1.03  * 1.2 = 1.23 1.23 m3
BEYEEII7 X7 7))L FEEERYIER 1.5 * 4 * 3 = 18.0 18.0 m
t=15emLL T
T UR—ILERET 3 3| &
AoV Y—+rJOvYE
SHAE R AR RS ( 225 - 0.33 ) * 3 = b5.76| 5.76 m2
AstEfaE t=15cmEAF
TR IE 576 x 0.05 = 0.28 0.28 m3
Asik
TR IE ( 052 - 0.28 ) *  0.04 % 3 0.02 m3
|7 Co = 0.02
NG H A ERK 0. 0929 * 3 = 0.27 0.27 t
BIER k3
non#& 0.28 2.3 = 0.64 0.64 t
Asik
non#& 0.02 x 2.35 = 0.04 0.04 t
#7500
non#& 0.27 0.27 t
A95v T
REXBRT |ERUVAZa IOV IERT 3 3| &FR
AoV Y—+rJOvYE
HEINHEEILZIL ( 0.52 - 0.280 ) * 0.04 % 3 2 £
25kg/ % = 002 / 0013 = 1.5
#®E  ¢600 3 3 R
EHmE T-25
IUR—ILERESE 3 3 e
L=200 L=1. Om
HET RPEEIE ( 225 - 0.5h2 ) * 3 = 519 5.19 m2
wWEMEL
TRERET 5.19 5.19 m2
BAEMARC-40 t=bcm
LERAET 5.19 5.19 m2
FiAREA M-40 t=15cm
xET ( 225 - 0.33 ) * 3 = b5.76| 5.76 m2
H%ZAs20F t=bcm
RET REFEEB 3 (&Fr) /2 (&FT/B)*2(AN/B)=3 3 A




BE HWEHER ORAFHEITE
I i& [E i 2 A He| B

BEYEEI7 X 7 7L FEERTIE 1.5 % 4 * 3 18.0 18.0 m
t=15ecmLLF
SRR ( 225 - 0.33 ) 3 5.76| 5.76 m2
AsEhist t=15cmPA F
BB 576 x 0.05 = 0.28 0.28 m3
As5%
non#& 0.28 « 2.3 = 0.64 0.64 t
As5%

HET REEZEIE ( 225 - 0.33 ) 3 517 5.7 m2
wWEM M-25 t=2cm (FH)
®EL ( 225 - 0.33 ) 3 517 5.7 m2
BHZAs20F t=5cm

RE&T RBEFEEB 3 (&R /3 (BRr/B)*2(AN/B)=2 2 A




